Question No : 1 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

TWhich battery applies a greater potential difference?

Answer | Please select your correct option )

12v

15v

10v

05y
‘ Made By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 2 of 26

If we connect n inductances in parallel the combined effect of all these inductances is

Answer | Please select your correct option |

equal to the sum of individual inductance

reciprocal of combmed effect of all these mductances

product of all

sum of first and last
‘ hade By: Waqgar Siddhu

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 3 of 26

Woltage is measured in

Answer | Please select your correct option |

ohm

farad

valt

powier

‘ Made By: Wagar Siddhua




Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Thraugh which resistance least current will flow

Answer | Please select your correct option |

500

300

200

same through all resistance

Weade By: Wagar Siddhu

Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Answer | Please select your correct option |

500

300

200

same through all resistance

Weade By: WNagar Siddhu

Question No : 5 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Resistance of an open circuit iz

Answer | Please select your correct option |

Moderate
o
Infinitely high
{ @)
Low
~
Zero
c -
Weade By: Bagar Siddhu




Question No : 6 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

When two resistances are connected in series

Answer | Please select your correct option )

They st both have same resistance vale

3]

The voltage across each must be the same
o

They must have diferent resistance value.
O

There is only one path for current for both resistances
o
Wade By: Waqar Siddhu

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 7 of 26

If Ry and Bz resistances are connected in series and Vs is source woltage |, then voltage drop across Bi can be caleulated by which of the following formula

Answer | Please select your correct option |

Vi=RixVaFatRa

Vi=RaxVs/RitRz

Wi=RuxRaVs

‘ Made By: Wagar Siddhua

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 8 of 26

For the given citcuit, Voltage drop across 4C2 resistance is

Vs=14v

Answer | Please select your correct option |

Gy

24y

872

1527w

‘ Made By: Wagar Siddhua




Question No : & of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Answer | Please select your correct option |

By

2y

872v

1527

Weade By: Wagar Siddhu

Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Vs=10v

In the figure below, Voltage drop acress 74 will be

30

f!!;—I

Answer | Please select your correct option |

yi

(1

1

Ay

Gy

10v

Weade By: WNagar Siddhu

Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Vs=20v

4]

Answer | Please select your correct option |

20y

14y

Gy

10v

Weade By: WNagar Siddhu




Question No : 10 of 26

Marks: 1 (Budgeted Time 1 Min)

Using woltage divider in the figure below, Veltage drop across 3Q will be
30

!ff—l

Vs=20v

Answer | Please select your correct option |

20v

14w

By

Ty

Weade By: Wagar Siddhu

Question No : 10 of 26

Marks: 1 (Budgeted Time 1 Min)

Vs=20v

Answer | Please select your correct option |

20y

14y

Gy

Tv

Weade By: WNagar Siddhu

Question No : 11 of 26

Marks: 1 (Budgeted Time 1 Min)

How many loops can be assigned to given figure?

Answer | Please select your correct option |

Z

Weade By: WNagar Siddhu




Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 11 of 26
o v s
T~
an =V

Answer | Please select your correct option |

2

‘ Made By: Wagar Siddhu

Question No : 12 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

The walue of Ta for given circuit iz

eV

©

- =
202 =
.
—A

Answer | Please select your correct option |

la=lo
.

la=3A
(o

la=-3A
o

la=6v

‘ Made By: Wagar Siddhua

Question No : 12 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

73

8
- 2
203~
.
—AANS
10 12v
15 o 3A
| -

Answer | Please select your correct option |

la=lo
- la=3A
- la=-3A
- la=6v
Wede By: Wagar Siddhuy




Question No : 12 of 26

Marks: 1 (Budgeted Time 1 Min)

'
J[_._ -
102 12V
= Ia )
54 'i 3A

Answer | Please select your correct option |

la=lo
- la=3A
" la=-3A
5 la=6v
Yheade By: Wagar Siddhuy

Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min)

[}

Tewalue of T i3 2.2mb what will be the wahie of To?

Answer | Please select your correct option |

2m#A

TmA

2.2mA

10mA

Weade By: WNagar Siddhu

Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min)

1

Answer | Please select your correct option |

2m#A

TmA

2.2mA

10mA

Weade By: WNagar Siddhu




Question No : 14 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

| 40 20
- -4 =

How many loop equations can be written for this circuit?

Answer | Please select your correct option |

2

Weade By: Wagar Siddhu

Question No : 14 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

3 4
L @ Zsn

Answer | Please select your correct option |

Z

Weade By: WNagar Siddhu

Question No : 14 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

4]

Answer | Please select your correct option |

Z

Weade By: WNagar Siddhu




Question No : 15 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

For the given diagram, value of coupling equation may be

I-'—:‘

Answer | Please select your correct option |

Vi-Va= 6V

Wh-We= 2V

L-L=74

‘ Made By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 15 of 26

| it I 29

Answer | Please select your correct option |

W-To= 6V

Wi-ie= 2V

L-T="74

‘ Made By: Wagar Siddhua

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 16 of 26

The algebraic sum of the woltages around any loop is zero, is statement of

Answer | Please select your correct option |

Kirchhof, s voltage law

Kirchhof, s current law

Ohm, s law

Farady law

‘ Made By: Wagar Siddhua




Question No : 17 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Using current divider rule, current flowing through 40 s

Answer | Please select your correct option |

44

8A

12A

3A
‘ Made By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 17 of 26

Answer | Please select your correct option |

44

8A

124

‘ Made By: Wagar Siddhua

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 18 of 26

In the fig. below current flowing through 202 is

Answer | Please select your correct option |

44

8A

124

6A

‘ Made By: Wagar Siddhua




Question No : 18 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Answer | Please select your correct option |

44

8A

12A

GA
‘ Made By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 19 of 26

In the given circuit, the value of independent current source iz

‘ﬂ i s

Answer | Please select your correct option |

.

bef2

6mA

‘ Made By: Wagar Siddhua

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 19 of 26

w0 = =

Gma |

4]

Answer | Please select your correct option |

.

bef2

6mA

‘ Made By: Wagar Siddhua




Question No : 20 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

w0

How many loop/mesh equations we can write for the grven circuit?

L]

A

Answer | Please select your correct option |

3
3]
4
-
5
O
1
o
Made By: Wagar Siddhu
Question No : 20 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Pl

3oV

|
=

= . 10mA
2
Z 1o J

«
1

Answer | Please select your correct option |

3
e
4
{ @)
5
e
1
o
Wede By: Wagar Siddhuy
Question No : 20 of 26 Marks: 1 (Budgeted Time 1 Min) (=]
o g 5 g ‘/“'"‘“ i
= 1K
@
P )

Answer | Please select your correct option |

3

Weade By: WNagar Siddhu




Question No : 21 of 26 Marks: 2 (Budgeted Time 4 Min) (=]

Justwrite kWL equation for mesh 1

Answer [ Please click here to Add Answer )
FESR|E DS e[ (e )|
Jhiormal =] [ = | |E

Weade By: WNagar Siddhu

Marks: 2 (Budgeted Time 4 Min) (=]

l

Question No : 21 of 26

% 715

Rl | s -

Answer | Please click here to Add Answer )

FE e e A R N
[tiormal B2 | BT e =Hioels o ”g

Weade By: WNagar Siddhu

Marks: 2 (Budgeted Time 4 Min) (=]

l

Question No : 22 of 26

Caleulate Voltage Vap

— ﬁ

Answer | Please click here to Add Answer )

sHaR@|rEES s[5 e o]
[tiormal B2 | BT e =Hioels o ”§=

Weade By: WNagar Siddhu




Marks: 2 (Budgeted Time 4 Min) (=]

Question No : 22 of 26

w T I
Sy

RZ2 S

L‘x/v\,—o—-wx—l
F oAV + - N o+ o

Answer [ Please click here to Add Answer )

NEEHER| L Ea]s o (#5061 E [

Jhiormal 2 | I =l =ielr o |E

Weade By: WNagar Siddhu

l

Marks: 3 (Budgeted Time 6 Min) (=]

Question No : 23 of 26

Trite E VL equation for super mesh.

Answer | Please click here to Add Answer )

NEia|rse]s (a6l

B2 | BT =lET =Hiel 1_1”%

[tiormal

Weade By: WNagar Siddhu

l

Marks: 3 (Budgeted Time 6 Min) (=]

Question No : 23 of 26

4

Answer | Please click here to Add Answer )

NEia|rse]s (a6l

| ) =lE =t HH§=

[tiormal

Weade By: WNagar Siddhu




Question No : 24 of 26

Marks: 3 (Budgeted Time 6 Min) (=]

Just label the diagram by any method and mention the value of source current in the circuit
0

L &N

Answer [ Please click here to Add Answer )

NEEHER| L Ea]s o (#5061 E [

Jhiormal 2 | I =l =ielr o |E

Weade By: WNagar Siddhu

l

Question No : 24 of 26

Marks: 3 (Budgeted Time 6 Min) (=]

’“"-.'/ 2 v

|

Answer | Please click here to Add Answer )

NEia|rse]s (a6l

[tiormal B2 | BT e =Hioels o ”g

Weade By: WNagar Siddhu

l

Question No : 24 of 26

Marks: 3 (Budgeted Time 6 Min) (=]

4]

Answer | Please click here to Add Answer )

NEia|rse]s (a6l

[tiormal B2 | BT e =Hioels o ”§=

Weade By: WNagar Siddhu




Question No : 25 of 26

Marks: 5 (Budgeted Time 10 Min) (=]

6V

n

[} p—

Identify and label each mesh otherwise you will lose your marks. Label circuit diagram properly. Write KVL equation for super mesh.

Answer [ Please click here to Add Answer )

N=EEasR|Ea]s sz E g

I‘\UU%;”

Jhiormal

2 | I

= [ = i =

Weade By: WNagar Siddhu

l

Question No : 25 of 26

Marks: 5 (Budgeted Time 10 Min) (=]

an>
=

a0

iy
2VI an=

Answer | Please click here to Add Answer )

NEia|rse]s (a6l

[tiormal

l

B2 | BT

==

=T

Weade By: WNagar Siddhu

Question No : 25 of 26

Marks: 5 (Budgeted Time 10 Min) (=]

30
I\l

4]

Answer | Please click here to Add Answer )

NEia|rse]s (a6l

[tiormal

B2 | BT

= |

= wrile

Weade By: WNagar Siddhu




Question No : 26 of 26

Marks: 5 (Budgeted Time 10 Min) (=]

For given figure, write KVL equation for MMesh 1 and 2

10
/\ 50 ,I:) Ele)
x

Answer | Please click here to Add Answer )

NEEHER| L Ea]s o (#5061 E [

Jhiormal 2 | I =l =ielr o |E

Weade By: WNagar Siddhu

l

Question No : 26 of 26

Marks: 5 (Budgeted Time 10 Min) (=]

-|-_ 12
s 1124

I

Answer | Please click here to Add Answer )

D e[S e[ Ll e o =]

[tiormal B2 | BT e =Hioels o ”g

Weade By: WNagar Siddhu

l

Question No : 26 of 26

Marks: 5 (Budgeted Time 10 Min) (=]

L B | L

>
00 $ 24
<

4]

Answer | Please click here to Add Answer )

D e[S e[ Ll e o =]

[tiormal B2 | BT e =Hioels o ”§=

Weade By: WNagar Siddhu




